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Sileyemraen : (1) Smangg edlamssEpd sflurg oFsl udeirdl o dqrersm erarLgemer
slurTsgs Qamerereyb. FsLLdelled @GamulmLder emms
sesrantllureril_b 2 | arnguirs Cgflelsse]m.

(2)  Beod Sibavgl (LY enudenar eT(LpgIeusHEGD Siiq&GHTy (HeusHELD

Lweru(ss Celar(bd. ULBISEHT eumFelsnE Queréled
et (HSS6LD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@l : Qeualearmsgrer mrenE LGHsamers CasTeimg.

Note : This question paper contains four parts.

U@ - 1/ PART -1

@y : () ewersg elamssErsEh allenlwafldsa]. 12x1=12
(i) GasrhssuulL mrem@ el safled Wsa|b gnuemLw ablenL_ulener
CampOsBss @GN HLer ebleLulenaryd Carggl er(pseLb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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Tr&ClsL 6reygedled eldl /s LweTU(HSSLILIHSH DS
(=1) Bl Lafler epeamprd adld)

(<) Bl Lefler Qumrg rlinduwe alg

(@) CrrGari(® 2 hs wrmrs Casmum(

() (1) wip> (@)

To project the rockets which of the following principle(s) is/are required ?
(@) Newton's third law of motion

(b) Newton’s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

WlengenL_udler SI e &

(<21) Gom (<) g e (&) g (/) eum

SI unit of resistance is

(a) Mho (b) Joule (c) Ohm (d) Watt
60 SMOSHET Heng Coussdler (NTP) LiFaLd.

(<) 340 x 108 15/ &9 (<=y,) 340 S/e9

(@) 3x108 15/a9 (FF) 3x1078 15/eM

Sound waves travel in air with a speed of about at NTP.

(a) 340x108 m/s (b) 340 m/s

(c) 3x108 m/s (d) 3x1078m/s
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sHflwsssSler @
(<=1) grawT_gmen (<=1,) Sl
(@) QusGaTre (F) Qeneu DjananggDd
Unit of radioactivity is

(@) Roentgen (b) Curie

(c) Becquerel (d) All of the above

Lregm @&srser el uwearu®b 2 Corssd S
(1) YSgener (<) QeuairaaLd
(@) Gseredlwid (F) 1quyrredler
Alloy used in the manufacturing of pressure cooker is

(a) Brass (b) Bronze

(c) Magnalium (d) Duralumin

@@ &Ml Camngsler IUPAC Cuwir Cwgdled 19wyl L am-1-2,60. @\g| 6ThHS cUnSHE

Gamob?
(1) = vigamam (b (=}) srruTsSells ojLblevd

The ITUPAC name of an organic compound is 3-methyl butan-1-ol. What type of

compound it is ?
(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol

[ Hpliys / Turn over



4969

4
Q55 UMSHMET SHeTL_MbHeuT
(=) eNwereri (<=1,) smyed Cevetrl_evie crir
(@) efleedlwid emmrred (FF) el
The concept of blood group is derived by
(a) Wiener (b) Karl Landsteiner
(c) William Harvey (d) His

feanGaLoluder elleneTeaumed o (Heurag|

(=) @evGumrser (=,) Csmefliguwm

(@) ewsCGarl (smupLlenL ) (/F)  SHermACLmevCumTagerT
Syngamy results in the formation of

(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

pg o (heursssHnE 2ol Lweflg@gn uilu fLfuemLps Qaoser
(=) paeblene allbg euerm 2 udlyemi

(<) QarGLmedl Gladvaser

(@) &0y QFeser

(/F) avQurwl CLrGsreflwm

The large elongated cells that provide nutrition to developing sperms are

a) Primary germ cells
) Sertoli cells

(

(b
(c) Leydig cells
(

d) Spermatogonia
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11.

12.
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wemamns 2 ulfludler @QmBbgisTen 2 udr Garemmliig) eremieng blenGsseurr.
(1) emuilev LimevLIT (<=y,) geumleo

(8) apreGLe (FF) M

Life originates from pre-existing life was showed by :

(@) Louis Pasteur (b) Oparin

(c) Haldane (d) Lamarck

LT CSHMned eremig) @er Crrl erlmiLg Smer QUDD FHD Y @LD.
(<1) @by (<) Gped

(@) slen_Liuulm (FF) w&sTEGFTETLD

Pusa Komal is a disease resistant variety of

(@) Sugar cane (b) Rice
(c) Cow pea (d) Maize
shdoronsder epod 2 HusH Cleuwe erarm GlBed F&HD

2 QUTGEMENLD GUMLBS eaTentld CFHSS euem(HLD.

(=) srudl Qevrermym (=) S LmAlLmr 2
(@) e sara () aflbdi
is a rice variety produced by mutation breeding that grows well in saline
soil.
(a) Sharbati Sonora (b) Atomita 2
(c) Pusa Gaurav (d) Himgiri
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L@&3 - II/PART - II

GOl : eTemeuCuend e elarssErsE e wallssa|h. eflarm orer.

22 -§@ SLLMuns eflenwefl&sa] . 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13. @6l omeger srHMler LIFe|bCLUTE DiHem FISaTHeT
(=) Sameuder Hengudeb =iSramid
(=) flraymid, e GO L des @eeame
(@) eweuier Hangsa@ CFmi@Gssrs dramid
() <Hmeymieugdlerane
When a sound wave travels through air, the air particles :
(a) vibrate along the direction of the wave motion.
(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

14. (=) Qeafluyenti gadludler ySlrCleusr ereomen?
(=) erdlCrTellsE@E Coemeumar GanhsUL &5 CsTanee| 6Terer?
(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

15. eTEHFSTEllE LILIGNEHET @TeTiq.enail 6T (LpGIs.

Write any 2 uses of Ethanol.



16.

17.

18.

19.

20.

21.

22.
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GFOUTE TG GTEITMTE) 6T 6060 ?

What is respiratory quotient ?

weflg ellbg CFedler LILLD auabg LMSBISMET &hl&sHe| 0.

Draw and label the parts of a sperm.

LIflemTTOW eTETmTed 6T eTen?

What is called evolution ?

o2 L& Qg Ber fldlFans wHmDd @ar Qe e HHsmasdlen_Cui 2 drer

Caumum g enesT 6T (Lpg)I5.

Distinguish between somatic gene therapy and germ line gene therapy.

Hhm Clge, srgmrent Gaedledmbg ereuaimm CeumuBhidEmg?

How is Cancer Cell different from Normal Cell ?

Oleeramis SLley&eT ereueumm 2 HuSSHuirdlermer?

How are e-wastes generated ?

<aCasCrr elldlenwis samis.

State Avogadro’s Law.
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L@3 - III/PART - III

GO : eTemeuCuend e elarssErsE e wallssea b, eflarm orer.
. . . . 7x4=28
32 -5@ sLLmuwns alenL wefldsea .

Note : Answer any seven questions. Question No. 32 is compulsory.

23. (&) Wemeu(md WednmisEnd@ @GN Igmer eT(pgis.
(i) sy QevewriiL (i) WersenLwimss
(iii) eefllenr evLCuwim( (iv) enLGwm
(<=4) 12 sagd WerGermiliib 5 ellpmg Cord e Wleredlarsdlen aulplwims
umLdlmg) erefled, e UG GlFergyd WlenGam L SSlem iemey eTemen?
(@) Write the symbol for the following component.
() Ground connection (i) Resistor
(i) Light emitting diode (iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds. What is the current
through the bulb ?

24. (3) AL (H GTET - QUENTILIMISHSE|LD.
(<=1,) CO, -eflen epavdann Hlanpmenw senrdsdHs.
(a) Define Atomicity.

(b) Calculate the molecular mass of CO,.

25. (&) &I ereueumm THUGSHDE? SI(H 2 (HUTGEUSET FOGTLTL ML S(Hs.
(<) @flbrasans sH&GD Wernser erenelCwead @ reamiqemertl LM
GT(LDGIG.
(a) How is rust formed ? Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.



26.

27.

28.

29.

30.

31.

32.
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(=) eallECarsans eranmmed eranan? @g Claedldr eTmiE BeanL ClLmIEmg)?
(=) sTHM FEUTFD WHMLD STHMHleer &eursbd - Coumu(HSSIs.

(a) What is photosynthesis and where does it occur in a cell ?

(b)

b) Differentiate Aerobic and Anaerobic respiration.
aury leneudled 2 erer grauy anmrGomen 6Tgl? SiHer almpailiied allenere,dser

gCaeaibd epaThlenat 6T (Lpgis.
Name the gaseous plant hormone. Mention any three of its physiological effects in

plants.

(=) warHE CaTEMSE TERTMTE 6TETET?
(=) warBEe Carsamaudlen LILETHEENET Fnnis.

a

b

(@) What is pollination ?
(b) State the importance of pollination.
&CrmGrGarien enwlienL efleuflEgHe .

Explain the structure of chromosome.

MmSFleusgiannuie 2 uldli Qgmleom Letlwdler paEEusgeisams 6T (Lpgis.

Discuss the importance of biotechnology in the field of medicine.

wenipBi Callliy emwliyser ereueurny Hleossy Brvl L soms fsfsss
QS ermen?

How do rainwater harvesting structures recharge ground water ?

U8 eramp gaflbb <our Aagelhe oL uGSpg ecrafler, Cal gaflsHe
2 ater Hlull rrenseflen cravranilsamaanwis sarsdl(Hs.

9pU?38 experiences a-decay. Find the number of neutrons in the daughter element.
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u@d - IV/PART - IV
GO : Siemesisg lamésErs@h elle weallsa)b. Coemeuwmes @)L nigafld
UL LD GUEHTS. 3x7=21

Note : Answer all the questions. Draw diagrams wherever necessary.

33. (&) Bl Leaflar QusssSnasrear adldaamer cilemss@s.
S|60605)
(=) () Hlrlurrene, girliurienel @Gapurhsamer Coumili(hsss.
(i) EeNCeerslem LIWGTSET G)T6mTiqane 6T (LS.
(a) State Newton’s laws of motion.
OR

(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(i) Write any 2 applications of concave lens.

34. (&) (1)) MgSO, - 7H,0 2 liepu GeuiulihggnGung) eranear Hlaspdlng?
i) rmrb 2Mepabd Corwmger LOMDL FFD 2 HEpdd Famryb
Caromgmer eT(HSSISSTL_(HL 6 6NlersEs.
360605
(=) () OCetiugfengey eSlenaaeT eTeTDTE 666 ?
(i) Bearelenar - Werm aflenesr GCoumiLi(Hds.
(@) () What happens when MgSO,-7H,O is heated ? Write the appropriate

equation.
(ii) Explain hygroscopic substances and deliquescent substances with examples.
OR
(b) (i) What are called thermolysis reactions ?

(ii) Differentiate reversible and irreversible reactions.
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@Qrssslen Lenlsamer LiL g uied(hs.

@emaggiamarger SDUILSHEGLLD PHEUSDEGD STTERTLOTET HEHLOLIL|

STUL QFO&EET Y GD. G&FmDMESTE STTERTHRISENETS S(HS.
360605

DG S(HBSHILITSER&SE FhUBL rsflenarsaner gl Clalieugnamen

Ereneusd &(Hs.

2 L HU(HLOGIEHEGS STTETONGT STFERlEH6T cTenel?

Enumerate the functions of blood.

Guard cells are responsible for opening and closing of stomata. Give reason
for this statement.

OR
Suggest measures to overcome the problems of an alcoholic.

What are the contributing factors for obesity ?
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